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M2 SECOND REVISION EXAMINATION-2025
| EEERAER

10 - s | MATHS

Time:3.00 Hrs * Marks :100

i - 14%X1=14

and (5, 2a + b) aré equal then (a, b) is

2,-2 b) (5, 1 ) (3,-2)
?f)g(= {(1,)1), (2,3) (%,g), (‘%,7)} is a function given by g(x) = ax + B then the values of « and [3’

are a) (-1, 2) b) (2,-1) o)) (-1, -2) . d) (1,2) ‘ ! J
The sum of the exponents of the prime factors in the prime factorization of 1729 is
a)l _ b).2e % ; ..0) 3 ' d) 4 :
The value of (13 + 23 + 33 + ....... +15%) - (1+2+3+ '

a)14400 = b)14200 c) 14280 d) 14520 -
The number of points of intersection of the quadratic polynomial x? + 4x + 4 with the x axis is
a) 0 : ) -~ "¢)0ort d) 2

-2 =2 2 ' g2 2 1
A2 o b) {2 _ |2 2 dly 2
. In ALMN ZL=60”, / M=50".1f ALMN~APQR then the value of /R Is

a) 40°. b) 70° c) 30° d) 110°
1

. . If slope of the line PQ is ‘\/_5‘ then slope of the pe

Answer all the questions.
If the ordered pairs (a + 2,4

. ' 1 3 : 5 7
Find the matrix x if 2x + 5 7 = 9 5
2

rpendicular bisector of PQ is
a) Bisiemiiaab) a3 97 d) 0
. If (5,7), (3, p) and (6, 6) are collinear, then the value Ofipils Blaians s

a3 . b) 6 Q)9 d) 12

If (sin a + cosec a)? + (CoS o + sec a)? = k + tan? o + cot’ o then the value of k is equal to
a)9. el b) 7 ‘
The total surface area of a h

. c)5 d) 3

emi-sphere Is how much times the square of its radius.

a)r - o b) 4n :C) 3n : d) 2=

The curved surface area of a right circular cone of height 15cm and base diameter 16cm is
a) 60n cm? b) 69rcm? | ~€) 120r cm? d) 136n cm?

The range of the data 8,8,8,8,8 ' a)o b)1 ~¢)8 d) 3
The probability of getting a job for a person Is -3','If the probability of not getting the job is %

then the value of xis - a2 = byx e c) 3 d) 1.5

'~ Answer any 10 questions. Question No. 28 s compulsbry. 10X 2 = 20 '
. IfA= {1, 1} and B = {-1, 1} _then geometrically describe the set of points of

A X B. [ 5 e EE
If f(x) = x2<'1, b(x) = X - 2 find a, If gof(a) = 1..
Find the HCF of 252525 and 363636. b

Find the number of terms In the A.P. 3,6,9,12,%....

Find the.sum of 1+3+5+ to 40 terms. *

bl xX+10
Find the excluded values of the following expressions. 8"( %

o T 144a%%
. Find the square root of the following expressmn.s‘. W

A circle is inscribed In A ABC having sides g8cm, 10cm and " e T\ :
12cm as shown in figure, find AD, BE and CF. : ' g k 0 /1 .':‘\

A4
{20 i3
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ne 8x - 7y + 6 =0.

23, Calculate the slope and y Intercept of the straight Il
: + 6y + 18 =0are parallel.

24. - Show that the straight lines 2x + 3y - 8 = 0 and 4x

1+cos @ ‘ | =T
25. Prove that 4|7 <o = cosec 0 + Cfo.t_e' , | v, e ba e o o0 |
2. 1f Its helght is 24cm then find the radius

. 26. The volume of a solid right circular cone is 11088 c
of the cone. ' ~ ' e ; , ;
27.  Write the sample space for tossing three coins using tree diagram. Abe e %
28. Find the range and coefficient of ?ange of the following data : 25, 67,,48; 53, 18, 3944055

II Answerany 10 questions. Question No. 42 is compu'.llsqo_l‘y-l Se LA, G
29, Given A = {11213}1 B= {21315}1 C= {3,4} and D = {1,3,5} CheCk,f Yz dnkta R
(ARC) X (BAD) = (AXB) n (CXD).is true? ' ' :

¢

2x+7 x<-2. B

x* =2 =2<x<3 pen find the value of 1) f(4)
. 3x-2 x23 o
) L D=3 |
i) f(-2) i) f(4) + 2f(1) V) T r3)

al numbers between 300 and 600 which are divi;ible by 7.
to 8 terms.

.30, Ifthe function f:R —» R Is defined by f(x) =

31. Findthe suni ofall natur
32.  Find the sum of the series (2° - 1%) + (4° - 3%) +.(6%-5%) + .

o 3 1 . : ,
33. If 4 =[ )‘show that A2 - 5A + 7L,= 0.

-1 2
34. Ifaand B are the roots of x2 + 7x + 10 = 0 find the values of

) (a-p) )ar+pr d)a’-po iv) o + B
35.  State and prove the Pythagoras theorem. S ,
36. Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are taken in the
‘ order (-4, -2), (-3, k) (3,-2) and 2.3) o et R
37, “A(-3, 0) B(10, -2) and C (12,3) are the vertices of A ABC. Find the equation of the altitude

through A and B. R , -
38. From the top of a lighthouse, the angle of depress

are observed to be  30°and 60°. If the height of the
the ships passes through the foot of the lighthouse,

4h
is "gm. : ‘ _
39. Atoyisin the shape of a cylinder surmounted by a hemisphe [
" Find the total surface area of the toy if its common diameter is 12cm.

the radius and height of the cylinder respectively : : : :
40. The marks scored by the students in a slip test are given below. Find the standard deviation of

their marks. = X 4 6 8 10 12
; ¢ 5 :

7 3 5 9 - '
oor numbers 1 to 100 randomly, find the probability

be an even number or a perfect square number or

ion ‘of two ships on the opposite ‘sides of it
lighthouse is h meters and the line joining

re. The height of the toy is 25cm.
‘Solution let r and h be

; 41, _In'anapartment, in selecting a house from d
of getting the door number of the house to
5 : ?__»‘pgrfgct cube number.
. Find the values of a and b If the follo :
o o e Txs 220% £ 100: wing polynomials are perfect squares o

IV Answer all the questions. 2% 8 =16 : _
43. Constructa APQR PQ=8CM, /g _ ¢oo. and the median RG from R to PQ Is 5.8

length of the altitude from R to PQ. (OR)

Draw a circle of radius 4.5cm. Take a pojnt on

using the alternate segment theorem, .
44. Draw the graph of y = x? - 5% - 6 and hence solve x?-5x-14 = 0. (OR)

Nishanth Is the winner in a Marathon race of 12km distance. He ran at the uniform speed of 12 km/

hr and reached the destination In 1 hoyr, He Was followed by Aradhana, Jeyanth, Sathya and

Swetha with their respective speed of 6km / hr, 4 KM / hr, 3km / hr and 2 km/hr. And, they covered

the distance In 2hrs, 3hrs, 4 hrs and 6 hoyrs respectIZe‘:y. Draw the speed - time graph and use it
m/hr,

to find the ti to Kaushik with h ed of 2. .
"R?n'iﬁ?%n(? l\ﬁe Your Study M3teRils To Us Email ID: padasalgmgté%mgﬁ?g%ﬁn FASEF2

cm. Find thg

‘the circle. Draw the tangent at the point

1 10X5 =50

show that the distance between the ships-

1
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